Introduction to the Mole and Molar Mass
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2. What is Avogadro’s number? (o, 02 = 10
3. What do | mole of mercury and | mole of silver have in common?
wﬂn*&ﬂ both contan 6. C‘},xﬂl‘ qunn,l.e) (cxjrc w%)
4. What do 1 mole of carbon and 1 mole of oxygen havc in common?
"Wnej both contain G.02x10% por Aicles (atoms)
5. Complete the table below.
Molecular formula | # moles # molecules # atoms i
H 1| 6.0L x | O3 | %(.0Z x1D%3) = .0z «0%
Cl 1 &.02 x 0% Lx(e.02 x 1O -t 0.02% {0 3
(HCL 1 .02 x10%3 2¥(6.02 x10%3) - j.204xi0T
| NaOH 1 .02 x 10%3 [ 3%((.02%10%2) = 1, 306xI10%
O, ! (0,02 % u.“‘? x(L,02x10%2) = i,204 x| O
| CO: 1 L 02 > \OB 3x (4.02x10*3) = (,§06 1G]
CaCl, 1 (0, 02 x)0*3 3% {0,02%10**) = |, B0k «i0%]f
Mg(OH); 1 ©.02 x 10%3 5 x[L.02x16#3) = 3.01 x10%Y
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(K 2) [_mel T, 2mole |9 (coax0?) x| = (20440
f . ‘ Q 0.0 *Lc‘tm‘ﬁul,uitj w oo =
KB 2 |ax(oozxic?) = 1204 16%% | 2 x(£.03516%3) % 2 - 24084107
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NO; 2 |ax(e02x10*D= 1204« 102V 2 1(6:02x10%2) % F = .428x40%"
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7. How many atoms of nitrogen are therg inl mole of NO.?

6 i
.02 % 1D atoms

| = (Lo 0z = IOL5) * |
8. How many atoms of hydmgen are there in 1 mole of water? —» rl O

| (.02 =10° ) 2 i,204 x102% atoms
9. How many atoms of oxygen are there in 1 mole of water?» # l(é

| % ((.mb;'lx IDB> x | 6.02 < 1012 atoms

10. How many atoms of oxygen are there in 1 mole of N,
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| % (Q.Ul*ltr”} %5 3,00 x 1% AXowSs
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11. What is the molar mass of

a) Sulfur 32.0%_g/mol
b) Boron 0 ,5i 3/ ol
¢) Lead 20%.20 o/ mol
d) Phosphorus 3097 Z4/mol
¢) Gold |96.9% 5/m01

12. Calculate the mass of 1.0 mole of

a) NH;

4.6 + i0lx3 =‘I?'D4Ci!
b) 0. f(e.coxZ = | ?ﬂwooé ]

) S 32.093 x& = { 13@,1’5@3 1

&) NO: 2(14.0) + 5(leco) = (106.024)
it.ol 1 OO
e) MgSO, 24,3) + 32.07 + 4(16.00) = |120,38
o (1600 = (120,384 |
24.31\ 37204 6O

f) Zn(NO), 65.39 + 2(it.0) + & (le.co) = | 1694l
o (i+.0) ) i____;L

9 (NH)S0,  2(1tol) + gL.ol)y 32,07 + 4 (1e.00) = | [ &2z.t3 c

h co. iz.ol + 2(1k.00) ﬂwlo%g |

) CaCk 40,08 + 2(35MS) = ﬂ 110.984,
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